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All Candidates' performance across questions
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Sticky Note

This error, which arose as a consequence of incorrect basic logarithmic manipulation, was a very common error.
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Sticky Note

Another common error was to integrate ln 3 as ln 3 rather than 2ln 3.













Sticky Note

Enough work has been done here to earn the method mark. Unfortunately, the fact that the candidate has not written down any details of his/her workings means that no further credit can be awarded. 










(@) Use Simpson’s Rule with five ordinates to find an approximate value for the integral

7
J'S ln(1+x2)dx.

Show your working and give your answer correct to one decimal place. [4]

(b) Use your answer to part (a) to deduce an approximate value for the integral

7 3
1 dx.
L n[x/1+x2) [3]
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(b)

(1) dy =1 x (3x% + 5x) "2 x f(x) (f(x) #1)

dx 2
dy =1 x (3x* + 5x) ~ Y% x (6x + 5)
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Sticky Note

The candidate seems to be well on the way to getting the correct answer but unfortunately makes two algebraic slips
after doing all the hard work 













Sticky Note

The candidate fails to substitute x back in for cot y and thus loses the final mark.
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Sticky Note

The candidate does not know the derivative of cot y and is unaware of the fact that the required information is given in the Formula Booklet. Although the method used above is correct, no credit is given since the derivative has been incorrectly labelled as dy . 
                               dx










(a) Differentiate each of the following with respect to x, simplifying your answer wherever
possible.

(i) 3x*+5x (i)  sin-!3x [4]

(b) By first writing y = cot-lx as x = cot y and then assuming the derivative of cot y, find

%}c in terms of x. [4]
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Sticky Note

Although the candidate initially realises that a factor of 2 must be taken into account, this is omitted from all subsequent calculations
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Sticky Note

The candidate does not seem to have made any use of the answer to part (a). Unfortunately, there were many instances of similar errors which resulted in candidates failing to earn any marks in part (b).
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Sticky Note

Several candidates lost the final mark as a consequence of poor logarithmic manipulation similar to the above.










(@) Find each of the following integrals, simplifying your answer wherever possible.

(i)

8625 i J 6y
J © M J4x-17

3

cos(7x—_9)dx

Differentiate In(3x2 — 8) with respect to x.

Use your answer to (b)(i) to evaluate

° 3x
2 3X2—8

[6]

Give your answer in the form Ink, where k is an integer whose value is to be

found.

[6]











